Question Answer Marks AO Guidance
y 9 M1 1.1a | Attempt to differentiate Power decreases by 1 for at
—=2X+k+4x
d least 2 terms
2(-2)+k +4(_2)—2 -0 M1 3.1a | Substitute x=-2, equate to 0 and
attempt to solve
k=3 Al 1.1
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2_8x3-0 M1 3.1a | Equate second derivative to 0 and
attempt to solve
. = 4§ Al 1.1
1 dZy El 2.1 Consider convex/concave either side

forx<4*=—<0 1
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When x = 43 ? # 0 hence not a stationary point E1 21 Consider gradient at x =42, or

X
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justify that x=-2 s the only
stationary point






